COFM – Healthcare And The Community & Evidence Based Medicine

The expectation of life

A
is specific for each individual

B
is a summary measure of mortality in a country

Which of the following about health of a population is not correct

A
it is linked to the socioeconomic level of a country

B
it can be improved by spending more on healthcare

Which of the following vaccinations are not given under the expanded programme for immunization?

A
diptheria

B
tetanus

C
tuberculosis

D
hepatitis B

Which of the following are high risks for arteriosclerosis

1. high LDL

2. low HDL

3. low dietary fiber

4. low LDL

A 
1 only

B
1 & 3

C
1 & 2

D
4 only

Which of the following is a form of secondary prevention

A
excercise

B
immunization

C
screening for genetic defect

D
the Trim & Fit program for obese children

Which of the following is the cause of the highest percentage of deaths in present

day Singapore?

A
bronchopneumonia

B
tuberculosis

C
malaria

D
gastroenteritis

In a randomized clinical trial, controlling confounders requires

A
blinding

B
decrease in loss of follow up rate

C
randomization

D
decrease in non-compliance rate

The odds ratio is a good approximation of the relative risk if

A
disease is common

B
disease is rare

C
exposure is common

D
exposure is rare

Education level is an example of a

A
nominal variable

B
ordinal variable

C
interval ratio variable

D
group variable

If X is known to be a causal factor of disease Y, the population attributable risk of Y due to X depends on the excess incidence of Y among those exposed to X and 

A
the size of the population

B
the prevelance of the risk factor in the population

C
the prevelance of the disease in the population

D
the distribution of disease

In a clinical trial to assess the value of a new treatment, A, in comparison with an old method, B, patients were divided into two groups. Of 100 patients treated by A, 30 died, while out of 200 patients treated by B, 80 died. If difference in mortality is significant, the 95% CI of the difference would be equal to

A
9 to -30 %

B
-5 to -15 %

C
5 to 15 %

D
0 to 10 %

In a case-control study, odds ratio for developing breast cancer in patients on HRT was 1.8 (95% CI of 0.8 to 2.5) as compared to patients not on HRT. Which of the following statements are not correct

A
those receiving HRT have 1.8 risk of developing breast cancer over those not 

receiving HRT 

B
if the study is repeated 100 times, in 95 attempts, odds ratio would be 0.8 to 2.5

C
odds ratio of 1.8 is not significant at a 0.05 level of significance

D
HRT is a cause of breast cacner

The standard deviation

A
is caclulated based on squared variance of every value from the mean

B
has no unit of accuracy

C
is not useful for comparing dispersion of two distributions of different units

D
is a measure of central tendency

Which of the following is false?

A
Prevalence is a function of the incidence and duration of a disease

B
The population at risk is defined as those who can be come a carrier

C
Incidence density is the number of new cases per unit of population at risk

D
Prevalence rate is a way to measure the rate of increase of disease in a population

